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=i BA BRFRAF 2 1 1 1
AE #EX V& DISSC 1 2 6 2
SBEH A Y75 ~hSC 5 3 2 3
SN RRAF 3 7 20 4
T BA V& DISSC 9 16 5
BN 2 EER2AF 19 5 6
aR 8% PREEAZF 10 7
N\ R RRAZF 4 17 11 8
B8 % RRAF 29 13 4 9
PaER  JRENAD IIBF R 6 15 23 10
BAR BEZMT rEES N 30 6 16 11
wiE =R HWBERE—-ROZT 7 12 15 12
(N =55} HIE B REK 13 14 7 13
Al E=RE HEFEREFR 8 9 19 14
BE =K HSC 22 11 8 15
AR ER IIBFBRF 21 8 22 16
Bt EX BERER 11 10 10 17
miE A PREEAZF 15 20 12 18
OB EER2AF 12 21 17 19
Bk &5 HERRIRSSC 23 19 14 20
IFE BX FRR)IKRE 16 31 13 21
/NH - BRAEB BREEXF 20 22 18 22
thE 2 rEES N 14 18 31 23
TE BiEF BAFERAF 17 25 24 24
Bi5 WX HSC 18 24 25 25
art #w2m AEARSCOA 25 30 21 26
ML EARER HSC 24 26 29 27
= RE BRBRE—ROST| 32 23 30 28
SRH & WERE—-ROZT 26 32 27 29
M= £ HWEIAE-ROST| 31 28 26 30
£ @z REIFOST 27 33 28 31
Fij o NI BHEERF =TSR 28 27 33 32
Ak mZ DTSR 34 29 34 33
Kig = (INESC 2y 33 34 32 34
ok BE AEASCOA 35 35 35 35
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